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Question Number : 1 Question Id : 4771878406 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Identify the INCORRECT statement regarding growth, development and
maturity of the child
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Options :

Development refers to growth as well as behavioural changes

BE eSS PR LB e S

Growth refers to structural and psychological changes

u,?ug.ia_lrgﬁig?tﬂl/;.ﬁ:ﬁ
2.¥

Biological and environmental factors influence development

o saiii s M QUriadel

3. %

Maturation refers to the emergence of an organism’s genetic potential
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Question Number : 2 Question Id : 4771878407 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Match the Development Theories given under List-A with their basic aspects

given under List-B
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List- A List—B
Ao ﬂJ Boor /r’
(Development) (Theme)
(Lss#) &)
A)  Erikson’s Psycho-Social i)  Depends on concrete and abstract
Development thinking abilities
TR RS E S a f o P
Ve Sl 3L 4
B) Piaget's Cognitive Development ii) Depends on experiential learning

s dad e, P Py

C) Carl Roger’s Self Development iti) Depends on universal ethical
principles
= kel A L,.EIJJ;U"JZ K X T
< 2 13136
iv) Depends on the result of child

interaction with his social

environment
ZLS AL L
¢ &
Choose the correct one
K12l
Options :

A-ii, B-iv, C-11
1. #®

A-1,B-11, C-m1
2. %



A-iv, B-1,C-i1
3. ¢

A-iii, B-iv, C-i
4. %

Question Number : 3 Question Id : 4771878408 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
According to Erik Erickson’s ‘Psycho-Social Development Theory’, a student of

Class IX isin thisstage of erisis
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Options :

Initiative Vs Guilt

TR

Industry Vs Inferiority

TS A et

Autonomy Vs Shame

. AL LGS
3.

Role Identity Vs Role confusion
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Question Number : 4 Question Id : 4771878409 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Among the following, identify the external factor, that influences Child
Development
i oo s .-l :'-I;- - r el 1' o P'
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Options :

Physical environment

;_,JJ?LLF:b
1.v
Hormones
2. % ujyj#
Intelligence
- =
Emotional maturity
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Question Number : 5 Question Id : 4771878410 Question Type : MCQ Option Shuffling : Yes Display Question

Number : Yes

Correct Marks : 1 Wrong Marks : 0

Among the following identify those that are more helpful to teacher to provide

adequate learning experiences for every learner according to thier individuality
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A) Ability grouping
1] J;:”j .;_,(;,:J;I

B) Adjusting the curriculum
LSl

C) Adjusting the methods of teaching
I AP

D) Proper knowledge of the individual’s potentialities
H‘ Cf Kuseilas )

Choose the correct one:
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Options :
A BCD
1.v
A.C,Donly
5 % D{CA_~
B,C, Donly
D.C:B_i ~
3. %
A, B, Conly
CB:AZ ~

4. %



Question Number : 6 Question Id : 4771878411 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Saritha, a 12 years’ age girl, appeared and completed ‘Intermediate’ with A+
grade. This reflects that her

et/ 5681223/ ijuiy”m;f,,y FISA 1200 ~

Options :

Chronological age 1s greater than Mental age

L% -;n:!:.,?;.f{j"'ifdfb

Mental age is less than Chronological age

cla fE A5

2. %

Mental age is greater than Chronological age

La)&;;fﬁ/&:

3.¥

No relation between Chronological and Mental age
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4. %



Question Number : 7 Question Id : 4771878412 Question Type : MCQ Option Shuffling
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the correct sequence of stages of creative thinking
eI C S Ler$F 1517
Options :

Preparation, Verification, Incubation, [llumination

Hipsberls fo B S 1

1.
Preparation, Incubation, Illumination, Verification
s cigsdesl feS i
2.9
Verification, Preparation, Incubation, Illumination
} U'Jf!fb;,.!é/!,jfdjgf@ +2
3.

Preparation, Illumination, Incubation, Verification

Jad sl pedaosd§ A2

4, %

: Yes Display Question



Question Number : 8 Question Id : 4771878413 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

One of the following is NOT an example for primary reinforcement
eSSBS S Lt
Options :

Food

Lw %

Sleep

Praise

iy

4.



Question Number : 9 Question Id : 4771878414 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

As a teacher, which test do vou use to assess the aptitude of vour students?
SO s i W
sl Sl L L kel o1l e

Options :

Thematic Apperception Test

SN N

1. %
Army Alpha tests
_*r-j e i
2. ®
Raven’s Coloured Progressive Matrices
~ I
UKt l s g E S
3. %

Finger Dexterity tests
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4.«



Question Number : 10 Question Id : 4771878415 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

With respect to nature of the Head of the school, which among the following lead

to maladjustment, criticism among teachers and students?
S lmu_t,mi ..,l-!?.ulnxir!:.l: Ju,l:%/gl jeed 1oLt :;Jab:_;’ Z.;_,J:C;F
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Options :

Social adaptability and maturity

ﬁ;;l:ﬁ;lfﬁﬁ“

1. ®
Participative leadership
=t/

2. %
Authoritarian leadership
_-,;_L;!';,l fT

3. ¢

Self-confidence and positive approach
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Question Number : 11 Question Id : 4771878416 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which method is more applicable to guide the student, who is facing the problems

like aggressiveness, anxiety, shyness, temper tantrums and poor academic

performance?
,.__,'JL‘JJI_,.JP fr}(.ff/@ugf_?,ewig?g,u"uﬂjﬁ’uyé. LJU:;J(L s pUd
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Options :

(Cross- sectional method

wrE oS

1. #
Case Study method
35 i’"”u’!

2.¢
Cumulative marks record
j)@jb/u: /f{ L,g !f

3. %

Introspection method

*
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Question Number : 12 Question Id : 4771878417 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

According to ‘Piaget’s Cognitive Development Theory’, the child exhibits this at

Pre-Operational stage
eyl ot tle p S S Lis# Sl o,

Options :
Logical thinking

erd

Conservation

Lis

Problem solving ability

Egocentrism

:-:"11}}7.
4.4



Question Number : 13 Question Id : 4771878418 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The changes in behaviour of an individual that occur by one of the following

factors does NOT fall in the category of learning
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Options :

Changes due to practice

JL s =--3-!J Jy

1. %
Changes due to experience
SV
2. %
Changes due to training
f’ -
ugi =20 s
3. %

Changes due to maturation

ULk a” :-,-,HJ J:Z

4.



Question Number : 14 Question Id : 4771878419 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Match the following List-A with List-B regarding multiple intelligence theory

List- A List—B
Acr g B
(Intelligence) (Association)
(=49) ()
A) Spatialintelligence i)  Socialsmart
=0
-
;_&IJ & Iy as
B) Interpersonal intelligence ii) Picturesmart
Al =SS ?
C) Intrapersonal intelligence iii) Selfsmart

=i b M2 biF

Choose the correct one
gkt

Options :
A-iii, B-i, C-ii
1. %

A-i, B-1, C-1i
2. %

A-11, B-1, C-ii1
3. ¢

A-u1, B-11,C-1
4.%



Question Number : 15 Question Id : 4771878420 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the INCORRECT pair among the following
E_EW a5l

Options :

Differential Aptitude Test - Wechsler

P IN Y

1.v

Equally Appearing Interval Rating Scale — Thurstone

W}_/ﬂ?-u&gihﬁjzﬂﬁfﬂlhj_.ﬁﬁlg,;;?d@

2. %
Chient Centred Approach - Carl Rogers
Sl bl p K taik

3.

Thematic Apperception Test - Murray & Morgan
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4. ®



Question Number : 16 Question Id : 4771878421 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following theory is related to cognitive learning?
o ol o
e T ALl A5

Options :

Learning by Insight

g

I

Learning by Conditioning

2. %
Learning by Trial and Error
- L1658
3. %
Imprinting

=

4P

4. %



Question Number : 17 Question Id : 4771878422 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

“An individual once conditioned to respond to a specific stimulus 18 made to
respond in the same way in response to other stimuli of similar nature”. The

above statement reflects this principle of classical conditioning
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Options :

Extinction

Sasa

Spontaneous recovery

Gt Aotk

2. %
Stimulus generalisation
SFE

3.

Stimulus diserimination

JF S
4. %



Question Number : 18 Question Id : 4771878423 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The teachers and learners have to keep these view points in their mind for

seeking maximum positive transfer of learning.
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Identification of associations, similarities and dissimilarities

among the learning situations

30l e b e el

B. Developing properideals and imbibing them to perform thingsin

future
S o .J_.r_;rw*b"_;"u P e S fu"ﬁ.ﬂ b
C. Building generalisations and making their use in further learning

E SN AT & 7ol S fmrof

Choose the correct one

Z gzl

Options :

A, Conly

CAL~
1. #

B.Conly

CB_~
2. %

Aonly

AJrF
3. %

ABC

4. v



Question Number : 19 Question Id : 4771878424 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Among the following which one comprises of personal events and experiences

associated with one’s life
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Note: For this question, discrepancy is found in
question/answer. Full Marks 1s being awarded to all
candidates.

Options :

Rote memory

- .
=2l deds

. :
Semantic memory

5L

2.
Short-term memory
b bg}xd’fu

3.

Sensory memory

Bl



Question Number : 20 Question Id : 4771878425 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the techniques that may help the teacher to sustain motivation among

students in the classroom

| _?L/GAJH’V Q:&ful,‘?{:rifujkv‘ﬂi#Uﬁﬁlﬂ&/ﬁéaftﬁﬁ@‘t;u%ﬁfb"

A Reward and Punishment

r»|)".-'_!|ﬁ|.:f::

B. Success and Failure

QL bl
C. Level of Aspiration

épJL?‘L*"

D. (Child Centred Education

il p S

Choose the correct one

LGl

Options :
ABCD
1. ¢
B.C, Donly
DC-B_ ~
2. %
A, C,Donly
Drcrﬂu.jf"
3. %
B, Conly
CBJ~



Question Number : 21 Question Id : 4771878426 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The percentage of learnt material forgotten immediately after 20 minutes as per

the Ebbinghaus experiment

e s U ol L2060 L S Lo £ S\

Options :
72%

1. ®

47%
2.9

79%

75%



Question Number : 22 Question Id : 4771878427 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Teacher taught the lesson without considering fatigue status of students to
complete the syllabus. Many of the students could not understand the lesson due
to fatigue. The Thorndike’s law of learning that is NOT followed by the teacher

here is
.:.,;jdjd;;ﬁ,‘)-b aqﬁkb@@'ﬁixﬁg&;gdi&é I.L.;UL;J(_, Lot d_ st
S Snd .;;,,'JEG'L;Lﬂuflﬁuglidgﬁi.:uluiﬁ_if S

Options :

Law of use

JEE1 96

Law of readiness

Sy
2.

Law of disuse

Je i o) 96

Law of effect

Fredl
4, %



Question Number : 23 Question Id : 4771878428 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the statement that DOES NOT support the concept of Vygotsky's

Constructivist Theory

S ede§P L PGP L P inay S

Lot § P8P LR un g S s

Options :

Social interactions are basis to higher order mental processes

eSS EES i

1. #
Cultural factors influence cognitive development
o nnee g J b nd 2
s B A s S B
2. %
Learning is the product of association between stimulus and responses
;J‘Lﬁ‘ﬂl}b} uk;;if;;;;lf/fm
3.

Language plays a vital role in cognitive development
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Question Number : 24 Question Id : 4771878429 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Inclusive education includes the following children in the classroom
e SCE S mtestae S U

A Socially disadvantaged children

Eriled b G
B. Physically disabled children

é. A;l-*f{,ﬂl’ Bl
C. Academically differentiated children

D. Mentally exceptional children
£ 0™ 4 b5
Choose the correct one
g2
Options :

A B, Conly

CB:A_i~
1. %

B.C, Donly

D:C:B_i~
2. %

A, C,Donly

DC: A~
3. %

ABCD
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Question Number : 25 Question Id : 4771878430 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In this model of inclusive education, the specially trained teacher moves from one

school to another and assists the differently abled children
Sl sttt d U1 33 S LI Bz b 5 SR A s
_ﬁ:.,t';r:u Ju )f;}.b’
Options :

[tinerant teaching model

Jis s Ak
¢

Resource model

Jj'LL,;'fo,'

2. %
Distance learning model
Jia dust

3. %

Dual teaching model
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Question Number : 26 Question Id : 4771878431 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Choose the statement that DOES NOT reflect the concept of self-concept

e oGS L v sd 2y S5 ol

Options :

Self-concept is the image of oneself

e 2577607
1. ®
Real self-concept reflects one’s actual perception of oneself
_r“;.r/JEPJJ!‘;&?iJ(J:LJ% e KJJ;CE:E?
2. %
Differential Aptitude Tests measure the gap between real self and ideal
self
L,{fl../r{,? E,JJ}UL{J}i:fd@;sld;f&?ﬁdﬁxﬁp
3.9

Ideal self-concept reflects the perception of what one should be

f,t';[j{fJgﬁuflg.lgl:ﬁgyffzr’jﬁfﬁﬁ‘

4. %



Question Number : 27 Question Id : 4771878432 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

One of the following method is suitable for teacher centric learning
_.:_'-ujjy‘g'- i_,u'ﬂ;i//f"’,{l;utg;?jijg
Options :

Brain storming

b1 % S

1. %
Demonstrations
& rlbr

2. A
Discussions
iy

3. %
Project works
0L~

4, %



Question Number : 28 Question Id : 4771878433 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Co-operative learning helps the teacher to develop these among students

e G u s P L St AT

A) Group processing

& e
=y u:; Lfi 2/
B) Individual accountability

LIS P

C) Face to face interactions
el el

D) Positive interdependence

M

Choose the correct one

gk izl

Options :
A.B.Donly
D:B-A_i~
1. %
A B, Conly
CBA_~
2.
B.C,Donly
D:CB_ ~
3. %
A BCD

4.



Question Number : 29 Question Id : 4771878434 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

According to this section of Right of Children to Free and Compulsory Education
(RTE) Act-2009, ‘No child shall be subjected to physical punishment or mental

harassment’
e 53 £ FE N1E2009 5N érff'J Gillsair Ui
_{L%guﬁ?uvwdﬁi

Options :

Section-17

17-%

1. ¢
Section-16

2. % 16-7
Section-19
19-*

3. %

Section-18

18-75



Question Number : 30 Question Id : 4771878435 Question Type : MCQ Option Shuffling : Yes Display

Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A teacher who got irritated by the comments of Headmaster showed her anger on

students in the classroom. This 1s an example for this defense mechanism

K3 APE6IF o116 S s B E L P ke s L ke

Options :
Rationalisation
29/

1. #

Displacement
it;

2.9
Projection

A0
Bl = 2y

3. %

Compensation
eS G

4.%

Section Id :

Section Number :

Section type :

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :

Section Marks :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Language I Urdu
477187263
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Online
Mandatory
22
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0
1
477187418
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Question Id : 4771878436 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (31 to 35)
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Sub questions

Question Number : 31 Question Id : 4771878437 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
I T oS- P 1Y
Options :

G kb a8 Us 70

1.
SO
2. %
uufic;u:.l
3.
K bls e
4. % 1

Question Number : 32 Question Id : 4771878438 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes



Correct Marks : 1 Wrong Marks : 0

—e bt U B =29 881

Options :
! #*
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2. %
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Vr o 28 23
3. %
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4.

Question Number : 33 Question Id : 4771878439 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 34 Question Id : 4771878440 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Options :
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2. %

bl
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Question Number : 35 Question Id : 4771878441 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Options :
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Sub-Section Number : 2
Sub-Section Id : 477187419

Question Shuffling Allowed : Yes



Question Id : 4771878442 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (36 to 40)
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Sub questions

Question Number : 36 Question Id : 4771878443 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Options :

1. %
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Question Number : 37 Question Id : 4771878444 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 38 Question Id : 4771878445 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks :
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Options :
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Question Number : 39 Question Id : 4771878446 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 40 Question Id : 4771878447 Question Type

Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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4.

Sub-Section Number :
Sub-Section Id :
Question Shuffling Allowed :

: MCQ Option Shuffling : Yes Display

477187420
Yes



Question Number : 41 Question Id : 4771878448 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Options :
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1. %

210

2. %
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3.¢
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4. %

Question Number : 42 Question Id : 4771878449 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks :
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Question Number : 43 Question Id : 4771878450 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 44 Question Id : 4771878451 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks :
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Question Number : 45 Question Id : 4771878452 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 46 Question Id : 4771878453 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 47 Question Id : 4771878454 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 48 Question Id : 4771878455 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 49 Question Id : 4771878456 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 50 Question Id : 4771878457 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 51 Question Id : 4771878458 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 52 Question Id : 4771878459 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 53 Question Id : 4771878460 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 54 Question Id : 4771878461 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 55 Question Id : 4771878462 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 56 Question Id : 4771878463 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 57 Question Id : 4771878464 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 58 Question Id : 4771878465 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 59 Question Id : 4771878466 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 60 Question Id : 4771878467 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Language II English

Section Id : 477187264
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 26

Number of Questions to be attempted : 26



Section Marks :

Maximum Instruction Time :

Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

30

0

1
477187421
Yes



Question Id : 4771878468 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (61 to 65)

(61-65) Read the following passage and choose the correct option for each
guestion.

During the pre-independence era, Indian politician was almost non-existent.
He was given concrete identity and character by MK Gandhi. The social workers.
supporters and people from all walks of life joined Gandhiji for opposing the British
dominance over the Indian subcontinent. From these cadres, politicians of highest
calibre emerged. The reason of their political abilities and respectable status among
the Indian masses was their association with the greatest legend of their era Mahatma
Gandhi. Moreover, those leaders were pious to the core, knave, hardworking and ardent
practitioners of highest moralistic norms.

The masses adored these politicians of highest calibre and were prepared to
sacrifice their lives, property and sanity for the sake of the achievement of the sacred
objectives, which were defined by these true leaders of our nation. The leaders of yore
were the most respected people of society, the saviours of the nation, and role models

for the plebeian masses, whom they always tried to emulate.
Sub questions

Question Number : 61 Question Id : 4771878469 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The main source of respect for the early Indian politicians among the masses 1s

their
Options :

wealth and power.

1. #
Western education.
2. ®
azspciation with Mahatma Gandhai.
3. ¢
positions 1n the British government.
4.

Question Number : 62 Question Id : 4771878470 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



What era is mainly discussed in the passage?

Options :

Pre-independence era
1.+

Mughal-era
2. ®

Post-independence era
3. %

Modern era
4. %

Question Number : 63 Question Id : 4771878471 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following qualities was NOT attributed to the leaders?
Options :

Piousness
1. #

Deceitfulness
2.

Hard work

High moral standards

Question Number : 64 Question Id : 4771878472 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
What does the expression "leaders of the yore' refer to in the passage?

Options :



Leaders from foreign countries

1. #

Leaders during the pre-independence era
2.¢

Leaders who collaborated with the British
3. %

Leaders of India's post-independence era
4. %

Question Number : 65 Question Id : 4771878473 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
What were the common people ready to give up for the leaders' cause?
Options :

Only their wealth
1. #

Only their personal freedom

Their future generations

Their lives, property and sanity
4.

Sub-Section Number : 2
Sub-Section Id : 477187422
Question Shuffling Allowed : Yes



Question Number : 66 Question Id : 4771878474 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the option that correctly sequences the following sentences.

A) He apologized sincerely for being rude.

)
B) Later, he felt guilty about his behavipur.
C) During the meeting, Mr George spoke harshly to his colleagues.
)

D) Everyone accepted his apology readily.

E) It was because of a minor misunderstanding among them.

Options :

E.C.B . ATD
1. ®
BB AD
2.
B.C.E.A. D
3. %
GEDBASDB

4. %



Question Number : 67 Question Id : 4771878475 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the correct option with regard to correctness of the following sentences.
A: People rushed to find shelter from the storm.
B: Immediate action can helps reduce future disasters.
Options :
Only the Sentence A 1s correct.

1.v

Only the Sentence B is correct.

Both the Sentences A and B are correct.
3. %

Both the Sentencezs A and B are not correct.
4. ®

Question Number : 68 Question Id : 4771878476 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

“Despite being I outsider, she was electedas chairperson of the
cominittee.”
Identify the suitable option to complete the sentence.

Options :

an, a
1. %

the, the
2. %

a, the

an, the
4.



Question Number : 69 Question Id : 4771878477 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The police officer found a child in the hut.

Choose the option to complete the sentence.
Options :
frightenad

1. %

frightend
2. %

frighteaned
3. %

frightened
4.« -

Question Number : 70 Question Id : 4771878478 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Identify the silent consonant sound in the word “vehicle”.

Options :

1. ®

c
2. %

h
3.9

1

4. %



Question Number : 71 Question Id : 4771878479 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the meaningful sentence.

Options :

What they expected was to begin at six the performance.
1. #®

) What they expected was the performance to begin at six.

They expected was what the performance to begin at six.
3. %

What expected they was the performance to begin at the six.
4. %

Question Number : 72 Question Id : 4771878480 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

I the order last week but the goods haven't turned up vet.

Choose the correct option to complete the sentence.

Options :

get pver
1. #
sent off
2.
finds out
3.
glve In

4. ®



Question Number : 73 Question Id : 4771878481 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the part with an error in the given sentence.

She was the only person whose I could trust.

A B C D

Question Number : 74 Question Id : 4771878482 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

He asked her. “Why didn't you inform me about the change in schedule?”

Choose the appropriate reported sentence.
Options :

He asked her why she had not informed him about the change in

schedule.
1.

He asked her why didn’t she mnform him about the change 1n schedule.
2. %

. He asked her why she did not inform him about the change in schedule?
3.

He asked her why has she not informed him about the changed

schedule.
4. %



Question Number : 75 Question Id : 4771878483 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

He never acts so rudely, ?

Choose the correct option to complete the sentence.

Options :

[ % don't he

does he
2.9

doean’t he

did he
4. %

Question Number : 76 Question Id : 4771878484 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the correct plural form of the word "phenomenon”.

Options :

phenomenas
1. %

phenomena
2.

phenomenon
3. %

phenomenae

4. %



Question Number : 77 Question Id : 4771878485 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the grammatically INCORRECT szentence.

Options :

When she entered the room. evervone was talking loudly.
1. %

While he was watching TV, the phone rang.

After she finished the exam, she goes to the canteen.
3.9

By the time we arrived, the guests had already left.
4. %

Question Number : 78 Question Id : 4771878486 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

She visits her hometown once in a blue moon.

Choose the meaning of the expression "once in a blue moon".

Options :

very rarely
1. ¢

day by day
2. %

day after day
3. %

regularly
4. %



Question Number : 79 Question Id : 4771878487 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The hard work exhausted the men.

Which of the following correctly transforms the given sentence into the passive
voice?

Options :

The men have been exhausted with the hard worlk.

1. ®
The men are exhausted with the hard work.
2. #
The men had been exhausted with the hard work.
3. %
The men were exhausted with the hard worlk.
4. &

Question Number : 80 Question Id : 4771878488 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks :

You will have realized by now that

Choose the correct option to complete the sentence.

Options :

I am quite serious.

1. v

I have been quit serious.
2. %

I was quite serious.

I had been quite serious.



Question Number : 81 Question Id : 4771878489 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
There was a lot of conflict between him and her.
Identify the antonym for the word "conflict”.
Options :

dispute
1. #

quarrel

friction

agreement
4.

Question Number : 82 Question Id : 4771878490 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

He was deeply affected the news of her departure.

Choose the correct option to complete the sentence.

Options :

of
1. %

01
2. %

by
3.¢¥

off

4, %



Question Number : 83 Question Id : 4771878491 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
At this juncture, it is impossible to say whether she will make a full recovery
or not.
Here the word “impossible” iz a /an
Options :
verb

1. %

adjective

2.¢
noun

3. %
adverb

4. %

Question Number : 84 Question Id : 4771878492 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The city we visited last summer was incredibly beautiful.

Choose the correct option to complete the given sentence.

Options :

-
[ % who
whose
2. #
whom
which

4.



Question Number : 85 Question Id : 4771878493 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following best describes the integration of LSRW skills in

Communicative Language Teaching (CL’TJ‘?

Options :

Practicing grammar rules in isolation
1. %

Developing language ckills independently

> Using real-life contexts to enhance language skills
3.

Relyving only on writing assignments
4. %

Question Number : 86 Question Id : 4771878494 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following best distinguishes a method from an approach in

language teaching?

Options :

A method 1s broader than an approach.

1. #

An approach 1s a set of classroom activities.
2. #

A method is the theoretical basis, while an approach is its application.
3. #

An approach is a theoretical viewpoint; a method 1s a practical plan for

implementation.



Question Number : 87 Question Id : 4771878495 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which activity helps best in reinforeing vocabulary in young learners?
Options :

Dictation
1. ®

Grammar drills

3 ¥ Word games and picture associations

Writing reports on vocabulary
4. %

Question Number : 88 Question Id : 4771878496 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

“During a courtroom trial, a juror listens to the defence attorney’s argument
to judge its logic and truth.” This type of listening 1s known as

Options :

Selective Listening

1. #

Discriminative Listening
2. %

Critical Listening
3. ¢

Appreciative Listening
4. %



Question Number : 89 Question Id : 4771878497 Question Type : MCQ Option Shuffling
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The primary aim of evaluation in English Language Teaching (ELT) 1s
Options :

to pass or fail the students based on their performance.

1. %
to 1identify the learning difficulties of the students and improve
teaching.

2.
to rank students among other competitors.

3. %

to complete the syllabus and prepare the students for the next class.
4. %

Question Number : 90 Question Id : 4771878498 Question Type : MCQ Option Shuffling
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
A psvcholinguistic barrier in learning Enghish refers to the
Options :

lack of playground.
1. %

poor classroom seating.
2. %

v fear of making mistakes.
3. -

famiharity with foreign culture.

4. %

Social Studies
Section Id : 477187265
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 60

Number of Questions to be attempted : 60

: Yes Display

: Yes Display



Section Marks : 60

Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 477187423
Question Shuffling Allowed : Yes

Question Number : 91 Question Id : 4771878499 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks :

The Siwalik Mountain ranges run parallel to the Lesser Himalayas for a distance of about 2400
kms from

L5 e o I 2 F24000 F o S dad sk g et
Options :

Hindu Kush Mountain Ranges to Brahmaputra Valley

. jﬁ:i}lﬁ,ﬁ,{ ;.JJL“LSJ'I{;:"J LYV
1.

Potwar Plateau to Hindu Kush Mountain Ranges

. e o ATy

2.

Potwar Plateau to Brahmaputra Valley

WAPE) I A T
3.¢ )

Rivers Ghaggar to Teesta

Bl 55

4.%



Question Number : 92 Question Id : 4771878500 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The words latitude and longitude are derived from the Greek words ‘Latitudo’ and ‘Longitudo’

respectively, which means

L85 Jc,ucugﬁé’_.,.g: A\« ‘Longitudo’sf Latitudo’ 513 ¥ Longitudesl Latitude 5!

Options :
Length and width
S i)

1. #

2. %

4.

revolving and rotating

J}:fd NashS.¥

height and depth

J[,gﬁ;ld ik

width and length

JE S f



Question Number : 93 Question Id : 4771878501 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the Statement that best describes the ‘Inversion of temperature’

_u:fﬁjﬁjdfugLI:L.f..é;/:"._"./.udﬂ‘:.—fﬁ"J.:...xlf"
Options :

An increase in temperature with height

Slale ;.:;l,?,?;m"'vl.dﬂ:

1. v

A decrease in pressure with altitude

§ LS L

2. %

A constant temperature at all heights

._“ulf,?ui_ﬂ-g:;u;’ﬁh’g

A decrease in temperature with height

JJ&J’];JJJL’L&A
®

4.



Question Number : 94 Question Id : 4771878502 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

This Meteorologist and Geophysicist had hypothesised that the super continent of Pangaea

broke up to form Laurasia and Gondwana Land
Gondwana s/Laurasia /- !E'L.y‘{ 0 fhj Lz_'ffji L Pangaeai.uﬁjﬂi:.—y‘:b AT S ey "

e g, ;s
YWES P LE Land
Options :
Alfred Wegner

1LV =

Marcia MeNutt

L2

2. %

Harold Zaffreys

R
3. %

Zhang Heng
Ay

4, %



Question Number : 95 Question Id : 4771878503 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Submarine Canyons are observed in this region of the Ocean Floor
% o g T R o
L moalie R B UL /Y 4 «Canyonse! /)

Options :

Continental Shelf

L) U/Jh? I/.

1. %

Continental Slope

Sl
- Je3s 4

Abyssal Plain

arSiis e f

3. %

Oceanic Deep

. UL G
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Question Number : 96 Question Id : 4771878504 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

This Voleano is known as ‘the light house of the Mediterranean Sea’

-t Lf‘_;_;,_;t:{r;,ﬁ“fuﬁéb?lduﬂ
Options :
Mt. Pelee in West Indies

Jf:._*éil.b/;;,‘l:!_t-ﬂ:

1. ®
Fujivama in Japan
Lo

2. %
Stromboli 1n Sicily
St K5

3.¥
Cotopaxi in Equador
$ LI Kk

4. %



Question Number : 97 Question Id : 4771878505 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In this part of India, Red Soils develop on erystalline and igneous rocks in the areas of low
rainfall

_%J’.‘d’ Jﬂutu}'u;LuJ;L.&uﬁkﬁﬁifT};lds U BNk
Options :

Eastern and southern parts of the Dececan plateau

, Lol S LS A

L.

Western and Southern parts of the Deccan Plateau

Jur 3zl LS T

Andaman and Nicobar island Region

LU AE siad

North western part of Indo Gangetic plain

S P SL s

4. %



Question Number : 98 Question Id : 4771878506 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
As per the Directorate of Economics and Statistics, Ministry of Agriculture, 2017, the

percentage of land under Net Sown Area is
_.;‘:_,:-.H.’: K_}';;ﬁiK{juﬂ‘IB&f&» L2017 |JJ-“-JU!‘&££F3|—“JEJL&;|M¢

Options :

18.11%
1. ®

45.5%
2.¢

23.3%

54.5%

Question Number : 99 Question Id : 4771878507 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks :

Among the following, the project constructed across the river Mahanadi is

_g‘g/:ﬂ 2 ﬁL;’LL;;JA?L;LJ'}( PRS0
Options :

Sardar Sarovar Project

Fd
- a8 N

Rana Pratap Sagar Dam

s ot
2. % e

Hirakud Project

PR o
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3.¢¥

Pravara Project

A
Lol gl g
4, % .



Question Number : 100 Question Id : 4771878508 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The Second largest producer of Paddy in the world is
_.:_-_,:_ﬂﬂl:é;,’ﬁ»tfs;uﬂxlzl{—;dju Lﬂ;,,;;:i’ xﬂc

Options :
China

1. ® u::

Pakistan
ot

2. ® '
Bangladesh
ok,

3. %

India

Oy



Question Number : 101 Question Id : 4771878509 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
One among the following is NOT the form of Cloud

Y LI NG PR

Options :

Cirrus

ke

1. %

Nimbus

Stratus

b
IHJI.&!

TR LY
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Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

These forests are grown in the higher latitudes between 50°and 70° of the northern

Hemisphere
i U e s L NP £ 7001500 Ls S s YE
Options :

Mediterranean Vegetation

=l A
1. ®
Coniferous forests
._":Lg-’ob o F
2. ¢ '
Temperate Deciduous Forests
] S 3 )2
3.8

Tropical Evergreen Forests

e B Lt ae Q151



Question Number : 103 Question Id : 4771878511 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the Cold Current from among the following
el s e St

Options :

West Australian Current

38 A0k A

1.v

Kuroshivo Current

}.;ij::i,u:(

East Australian Current

ol 1LJ’ }".“ i
s AQk F10

South Equatorial Current

08 A I0E
4.%



Question Number : 104 Question Id : 4771878512 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The annual insolation received by the earth on 3™ January is slightly more than the

amount received on 4" July, because

SUL G IS8 e M Sl sty I JRAE 35" Wsd_sidsosr 20l oS 815235 e

Options :

The earth 1s nearest to the Sun

_;.,d";__e;;&.‘éu!’iufj
LY

The earth 1s farthest from the Sun

NI OV L0,
2. ® 2
The earth 1z neither nearest nor farthest from the Sun
- ;JLJ.!JJ&-E‘;J}"(C}:J'
3. % ’

The length of the day 18 more
- dﬁn:&.}{j L"I Jd}



Question Number : 105 Question Id : 4771878513 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Ravi's weight 1s 80 Kgs and his heightis 1.79 mts. Then, the BMI of Raviis

ErIBMIE 1~ 1.79.56 sl L) #8055
Options :

44.69



Question Number : 106 Question Id : 4771878514 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the correct statement regarding the distribution of workers among the different

sectors of the economy as per the data givenin 2017-18
&JJ;LFF.Z.(-TEJ Ju;ﬁ&'ufur‘:‘_nf;.i&f?"& Wi;@:}iﬁlf?:gﬁzﬂl 7-18
-l

Options :

The workers in the Industrial and Service Sector are more than the Agricultural Sector

il A R R L AT

1. %
The workers in Agricultural Sector are more than the Industrial and Service Sector
= et - &
Uohie Ll 5 S KA
2. ¥
The distribution of workers in three sectors is same
-t s e
Uk Sud KU U
3. %

The workers in service sector are less than the Industrial Sector

G e EF I KAEL i



Question Number : 107 Question Id : 4771878515 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
In the rural areasin India. the main demand for credit is for
o b e -
NGRS O T SR L IS S I SLNIL S ATV
Options :

Purchase of agricultural land

. L ar il

Construction of houses

5 % é.ﬁ/:;J:.-L'K;

Crop production

& I Sus

3. ¥

Undertaking business activities

. el 20k
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Question Number : 108 Question Id : 4771878516 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In India, Aadhar Enabled Payment System (AEPS) is offered by

—e WU e 3 AL UIAEPS) ABESA 19 e AT sz
Options :

Ministry of Finance

ATy BT

1. #
Reserve Bank of India
L& I._:'T.ﬁ.u'{:
2. %
National Payments Corporation of India
LTy K
3.¢ g

Comptroller & Auditor General of India

V2T 7 A5 s /«._.’/

4, %



Question Number : 109 Question Id : 4771878517 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The employees working in the State and the Central Government offices get an

additional payment called ‘Dearness Allowance’ or D.A. to
L:lg;;’.?f,jb Jugbl.i L«'vl..gs‘fdfju- LUL/(‘KJFG:I.:M:GJ?’/J:I&E;;.A&Ji
TS N
Options :

Increase their income so as to meet the increasing inflation

SIS ZAwr s peswzzy

1.

Keep additional income in the hands of employees

J L E A PR AL

2. %
Increase the purchasing capacity of employees
&L by oS SAns St

3. %

Make the employees rich

&Lt

4, %



Question Number : 110 Question Id : 4771878518 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The range of Human Development Index Value is

cra§ L AL B FU

Options :
1 to 100
Oto1l
- 10
—0.1t00.1
0.1 -0.1
3. %
I to 1000
1000¢1
4. %

Question Number : 111 Question Id : 4771878519 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Year 2000 1s the base yvear. In 2001, the average prices of all goods have been increased
by 10%, whereas in 2002 they have been increased by 15%. Then, the Price Indexin 2002

20021 152 S 102 UL sl S22 22001 e JU S35 2000 1
ot WU S2002 -5 3B 15 LI

Options :

125.75
1. #

115.25
2.8

126.5
3.¢¥

1255
4. %



Question Number : 112 Question Id : 4771878520 Question Type : MCQ Option Shuffling : Yes Display

Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

These are used to calculate the Dearness Allowance to be paid for Government Employees

to revise legal wage rates
ust? StttV U o2 d L4 O \oK a3 Lind b Zind ni K
AN

Options :
Wholesale Price Index
L% 07 51}}’“5 S

Consumer Price Indices

.-t-;jguﬂggﬁ_i;fbwkﬂ
2. ¥

Retail Price Index

3 % o308

Producers Price Index



Question Number : 113 Question Id : 4771878521 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Removing barriers or restrictions set by Government is known as
B ' ; 'dl
—a bl Gt UL U e e S o
Options :
Economic liberalisation

SIS e
1.

Globalisation

e

2. %

Privatisation

Nationalisation

,.:_L;-,s

4. %



Question Number : 114 Question Id : 4771878522 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

During inflationary situation, the Reserve Bank of India reduces the money in circulation

in the economy to
-.;_Lz;f H’ POV 8.4 Ay ~ S T sy s i A=

Options :

Increase the purchasing capacity of the people

L L St i S s

1. ®

Make the money available only to the poor people
e S AR AN S e [N Y et - -t

L L ibnf il Lot

2. %
Reduce the purchasing capacity of the people

. é. LLJJL,JL":A"} _-_,}LL}[,F
3. '

Discourage savings in the bank so as to keep more money in the hands of the poor people

L L S her §e L EG L 1t uF L LE S mi LUAL o/



Question Number : 115 Question Id : 4771878523 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

This Act/scheme mandates that it is the responsibility of the Government to provide

manual work on demand and the wages to the workers and the capital needed are to be

paid by the Government
SUsins pstee S Ms i er B U S A1 65 g I Sl }d;u,;ﬁiﬁ.‘ i 3]
. i
_ifi_',,aj‘f_’.:,«‘;g'f’drljd,:L/;Kfujldf- IJIJ._“J.’I
Options :
National Food Security Act, 2013

2013566858507

1. ®
Pradhanamanthri Anna Yojana

LIS~ sy

MGNREGA
3.¢¥

The Factories Act

IFE



Question Number : 116 Question Id : 4771878524 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Gautham Buddha suggested the Ashtanga marga (Eight-fold path) for
-W?_Lf/{f';.ﬁ Ji(;«I;D’ﬁD%L@‘&fleéf;ﬁ

Options :
Making the people aware of the four noble truths

Sy ke f

1. %
Making the people to know the original teachings of Buddha
L ol Lq_t’jg}ygm_—yqf‘lf
2. % |
Elimination of human misery
L‘;r.xu.rf_ﬁfﬁ" dfr ¥
3. ¢

Attainment of salvation

L% Ve



Question Number : 117 Question Id : 4771878525 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
One of the following books was NOT authored by Acharya Nagarjuna

_?U{Jﬁf{dfﬁ;ﬁ‘f;kf__,ﬁbj;;,.J:,-_,fj‘?.,/

Options :

Sunvavada

|JI_!E:‘"’

Suhrullekha

s

Madvamikakarika

LA

3. %

Deepavamsha

L-"i‘,'i:a.)
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Question Number : 118 Question Id : 4771878526 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The construction of these two temples in Rajasthan 1s considered as the most notable

contributions of the Jains to the domain of architecture

_L;CE':’uf:._":L.Aéu.l;Lf.;.h..-f ;_J;.»KﬁZ._H‘f\fL,'La-‘f./pu’fffd/uuﬂuuluquu
_.;,L‘.'Lg

Options :

Dilwara Temple and Mount Abu

I al sttty
1.+

Khajuraho and Dilwara Temple

JJ-'-"J'_!JJJ.!'!TUJ{

2. %
Mount Abu and Lakkundi Temple
sir S 20 s s,

3. %

Dilwara Temple and Seth Hathisinghi Temple

£
“ Jﬂf’f*gfj.!'.fﬁ"ﬂ)b

4.



Question Number : 119 Question Id : 4771878527 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The primary objective of the Marshall Plan was

Options :

To spread communism in Europe

S 7 Ay

1. ®

To rebuild war-torn European economies
B ”

,tg/:z)d Uf:T-yLéJ;'Jlnl_}';...L%

2. ¥
To create a military alliance in Europe
L',fu_w;.)[.':"!n_;}’ Lk —v

3. %

To colonize Eastern Europe

btaS AT 23~

4.%



Question Number : 120 Question Id : 4771878528 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Among the following, the Harappan Civilisation Sites located in India were

-iﬂ-:.«LLE'AZ.__-;A? J,::j&'d I et L):J_ Dy
Options :
Kalibangan, Chanudharo and Lothal

g_,"g Sslseadle ruﬁd{
%

I.

Mohen Ja Daro, Shortugai and Sutkagendor

j#fﬁ'f Jﬁ'd €d calssils

2. %
Kalibangan, Ropar and Harappa
#
o 18430 uay-dgt
3.%

Kalibangan, Ropar and Lothal

g,,"gh:l_;:.udédb/
o
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Question Number : 121 Question Id : 4771878529 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
As per the Chola Inscription, ‘Pallichchhandam’ refers to

Y SR TV T,
Options :

Land donated to Jain Institutions

SIFS oS st

1. v

Land gifted to Brahmins

LI R E S ey

2. #
Land for the maintenance of a school
L'):Jé-z-dwm..(—’d .-ﬂ'J.ArL.rrJ

3. %

Land gifted to temples

Pt S i



Question Number : 122 Question Id : 4771878530 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The archaeologists are of the opinion that the city of Vijayanagara had four separate

divisions. Among the four divisions, the first division was
" 2 " i
7 L.Q:J_},.?JF,.A? Lt = Lﬂurﬁxkgulwuw,QU!ﬁaﬁ?J[gf;%}dW Z.,{.UJHQ,EL
Options :
situated on rocky hills which was devoted to temples,

ﬁjﬁéiu}Jﬁ‘ﬁﬁdB{u;&d;L@
1. v

situated on the valley where crops were raised using water from irrigation channels

%_LH/JL*'*!}(L}J;J/EET“A .J_".J,K.:J‘Kug;:u?gu,;dﬂ,-

2. %
a royal centre in which royal palaces and residences of important nayaks were located
. U2z LS UF A= SE U B S L
3.

Residences of ordinary people

u‘ftvffsjpdjl/;!r'k



Question Number : 123 Question Id : 4771878531 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

‘Mehrauli Iron Pillar’ Inscription refers to the achievements of

LSS UKL N sz g L s

Options :
Samudragupta
vl

1. F s e

Gautamiputra Satakarni

SESS

2. %
Chandragupta I
r::f}ﬁ;ﬁg
3.¢
Ashoka
S



Question Number : 124 Question Id : 4771878532 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In France, these philosophers wanted to create a society based on freedom and equal laws

and opportunities for all
n @I UL L satiln§t Tz JE S flon 1 S b Ut P it

Options :

John Locke, Jean Jacques Rousseau

O B T

1.v

Montesquieu and Aristotle

e
I JUJ'J:G.. !

2. ®
John Locke and Karl Marx

L,;JLJJKJ.!'Jﬂ e

Noam Chomsky and Karl Marx

J:LJJKJJI&’}Q';E



Question Number : 125 Question Id : 4771878533 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

One of the main demand of women during French Revolution was that
JB Sl Sl cflfduuf.?@'ldfl/i

Options :

the women should get the same political Rights as men

LIPSO AU S 15
1. v

all the women should be included in the list of Active Citizens

L‘?.V/Jtiufif/furuszbifgfrflﬂL?

2. %
Napolean Bonaparte should be made the King of France
lelbalial b 1A mwd;;;

3. %

The power should be in the hands of third estate

L x GetnaUt Al e AT



Question Number : 126 Question Id : 4771878534 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

As per thig, no European power would be allowed to build colonies in the American
Continents and the United States will not interfere in the affairs of Europe or colonies in

other continents
bk b b G e it KR U E 1S oy T L
_faf_/u:f’:ﬁu oz bl iuf;’(ufurg’iy_/u

Options :

Truman Doctrine

,:}'.p":ﬁ

1. #
Munroe Doctrine
A6

2.9
Marshall Plan
kS A

3. %

Treaty of Paris

T

4, %



Question Number : 127 Question Id : 4771878535 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Libya 18 located in this part of Africa Continent
PR IR V) VAW,

Options :

North-Western

G
1. ®

Northern

I

2.¢

South-Eastern

3/

3. %

Central

S

4. %



Question Number : 128 Question Id : 4771878536 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

One of the following is the provision of Right of Children in Free and Compulsory
Education [:RTE) Act, 2009

-« L2009 I(RTE) F £ A7 Sovai Lufekic it

Options :
1. ¢

The Curriculum and Evaluation procedures must be in conformity with the wvalues

enshrined in the constitution

_;lghﬁgﬁf LJljlﬁy;JuE:uf{Eg@)’ gél.wj!._;lﬂj

Every Child should be admitted into the school at the age of three

£ bbbt/ Pt JFit F Sl V& 1

2. %
Children can continue in the school even after 14 years of age for the completion of
Secondary Education
 wE St AL U4 L L Nl feat?
3.

(Child’'s name should be removed if the child fails in the class

LU E UL bt testas £/



Question Number : 129 Question Id : 4771878537 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

With this act, the minimum age of marrage for girls was raised to 14 years
e ' ’ i .
FS /I3 S8 LS UYL ship
Options :
The POCSO Act,2012

. 201246 POCSO

Sharada Actof 1929
I615K:1929
2.
Child Marriages Act, 2006
UKL 62006
3. %

Criminal Legal Amendment Act, 2013
20132415 73568 u0d

4, %



Question Number : 130 Question Id : 4771878538 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In 1953, the States Reorganization Commission was appointed under the chairmanship

of Fazal Ali to address the issue of formation of states on the basis of
EXE:‘Z.JSGJ JUPEJ.;;L_._-EU"I.J/E'.g_LH/J/E‘J:J?J& Uwfui’*ffffﬁ Ju;;‘”_l.:.z Ja 1953
LS

Options :
Caste

)
1. ®

Religion

\_-";'j

Language

.,L‘
s O

Culture



Question Number : 131 Question Id : 4771878539 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The main objective of Operation Blue Star was
Wﬁ)ﬁbﬁﬁw%a_pﬁi __,T

Options :

To conduct election in the newly formed states

by S A FI USSP 8

1. %
To clear the Golden Temple complex in Amritsar from Sikh militants
L'Ig,fdl.;.;_uu‘-gyﬁfqu%KL,Jlggjﬁ/f’uC;/I

2.

To fight the Pakistan militants in Jammu & Kashmir

. b e st F Qe Ut U

Liberation of Bangladesh from Pakistan

d;IJTJJf;.fé;.wb'@

4, %



Question Number : 132 Question Id : 4771878540 Question Type : MCQ Option Shuffling : Yes Display
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Correct Marks : 1 Wrong Marks : 0
The major highlight of the National Emergency period in India was
f',:.:..l_,uﬂlédif;.h_zg; ,-;{fqﬁldﬁ AT 2Y>:

Options :

42" Amendment of the Indian Constitution

A28 LT ke

1. ¢

Entry of Rajiv Gandhiinto Indian Politics
ot e Qb8 K21
2. %
Enactment of Official Religious Act
ST I 1
3. %
Formation of New states on the basis of linguistic principle

 FEEURLG padUmdn
4. :



Question Number : 133 Question Id : 4771878541 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
As perthe provisions of Article 356 of the Indian Constitution, the president may dismiss

the State Government and order the Governor to take over the administration of the

State with the advice of
ffif.x;'?_El:fr_:*)’{i/_"f:gﬁ/}.ﬂ,:J_z’f-,fﬂ,,_{;.)_r{"‘écﬂ&ﬁz/‘5.356;5)(}/*\_{7&?-1,%
LJW‘J"’JJW K;f&;e}fcifﬂgr_.:fg

Options :

Chief Justice of India

i3

LEIA a2
1. #

Home Minister

Lol s s

2. %

The Prime Minister

fhjlg.h

3.¢

Chief Justice of High Court of that particular state

SRl WL s P
4. %



Question Number : 134 Question Id : 4771878542 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The two major ideological and political Camps emerged in the post second world war

period were

_if_._/fl?{dy.ulsw g I uﬁj;;iﬂifyhﬁd/u

Options :

The Communist bloc and Non-aligned bloc

Al liamid

The Democratic — Capitalist bloc and Non-aligned bloc

._J/H; =l L2tz b =S as0%

The Communist bloc and the Democratic — Capitalist bloc

T2 s S sl

3.¥

Fascist bloe and The Democratic bloe

TSt S bk

4, %



Question Number : 135 Question Id : 4771878543 Question Type : MCQ Option Shuffling : Yes Display

Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A war fought behind closed doors through propaganda and words, without real physical

combat asin traditional warfare. This is known as

S LIRS LG sS AT 5L sy L Usitsssici o ]

Options :

Civil war

], % ﬁ;t&

Cold war

=
-y
2. 4

Guerilla war

_J;.(L&,Jf).f‘.ziﬁs
3. %

Nuclear war

by

4. %

L
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Correct Marks : 1 Wrong Marks : 0

‘CIA’ s the
-?:«‘CIA’

Options :
The spy agency of United States of America

SHBEL s i
LV

The militant group of Russia

s 67 KU 1

2.% 7
A radical student group fought for their rights
SO LIl oS oo L6 N

3. %

The space agency of United States of America

IR TS 2 HIOT)
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Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The primary aim of the Bandung Conference was to
NI A
Options :

Establish a new military alliance

SAEIIGI L

1. ®

Promote Western democracy

“ sl o e et

2.

Promote Afro-Asian economic and cultural cooperation

E:é}}fﬁ:ﬁﬁ"ﬁ?mu&bﬁ J‘Q’-&/’H
3.¢

Expand colonial territories

t;:&“?fu}'mgygﬂ
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Correct Marks : 1 Wrong Marks : 0

Which of the following is termed as ‘Excess Rainfall'?
el L CUBAS T hor T e ot

Options :

+20 percent or more of the average rainfall

L,?;l,n:_l:};.u"lk,«.ﬂ:fzﬂc.kr}l
1.v

+10 percent or more of the average rainfall

A SN as 10 besl

2. %
+19 percent to - 19 percent of the average rainfall
L,?AEM:.; 19044 - 19 Lol

3. %

-20 percent to -59 percent of the average rainfall

S A2 59 £ -20 = Lo
4. %
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Correct Marks : 1 Wrong Marks : 0

One among the following does NOT come under cognitive domain.
- - o . _,-" .

_Hﬂur: .ﬂl?&/!;}lu}‘ = quf ,n__.u-'"

Options :

Remembering

ST
1. #

Drawing

L‘JU‘I/_.}“;
2.9

Understanding

4

3. %

Evaluating

41

4. %
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Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the INCORRECT statement relating to aims & objectives.
JSGRET SNl T e aslias P A

Options :

Objectives emerge from Aims.

st = S P FlesGa
1. #

The scope of objectives is limited than that of aims.

_+rﬁ}3ﬁ.&f}TJp‘;ﬁ/}'E;U{yE’

Aims are specific and achievable in short time.

L Lot g P
3.

Aims are the guiding prineiples in education policies.

_U_’}'f_.ﬁd!"iJEUfJé.Lu)_ﬁJgLﬂu S
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Correct Marks : 1 Wrong Marks : 0

Translation, Interpretation and Extrapolations are the specifications under this

objective in social studies.

O - (B o
P TeE L -Ju:H‘ G ot G ST Fal 27
Options :

Synthesis

3

1. ®

Analysis

s

2.8% 7

Evaluation

&b

Comprehension

*

ff
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Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A class — IX student is actively involving in classsroom activities, respecting the
opinions of his friends, working with them and helping others. These activities are

reflecting the learning indicators of this academic standard

Uz fig el o gt Jetun S pEestafF ekesad
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e/, b

Options :

Appreciation and sensitivity

orl7aliey
1.¢

Conceptual understanding

™
:—»U!“dﬂ:ﬂ

2. %

Reflection on contemporary issues and questioning

L‘;:Juiyjjlfjjé:,b!}fﬁ,ﬁ

3. %

Reading the given text and interpreting it

G S et F L e s
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Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The following principle of curriculum development relates to importance of linking

the social studies content with daily life problems and experiences.

Sl izaal £\ L Shnpisidar £F G St it by bl

Options :

Principle of ereativity

L J!“'lb/.:{ﬂ‘ﬁ?

Principle of flexibility

Jrik

2. %

Principle of conservation

JreI6 s

Principle of utility

J#2IE el
4.

ity
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Question Number : 144 Question Id : 4771878552 Question Type : MCQ Option Shuffling : Yes Display
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Correct Marks : 1 Wrong Marks : 0

Among the following, identify the INCORRECT statement
_é.:ﬁi:d bl u:J’_ 3
Options :

In subject centric approach, lessons are loaded with informative content.

e bl A st Qb S OIE K 3 3 s

In constructivist approach, teacher follows chalk, talk method

et 3 Pl S KD P

2.¥

In child-centric approach, knowledge construction takes place through

active participation
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Programmed learning is the contribution of behaviouristic approach
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Question Number : 145 Question Id : 4771878553 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Among the following, identify the learning experience placed at third from the
base of the cone in the order of increasing abstractness in Edgar Dale’s Cone of

Experiences
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Options :

Motion picture

(PASF

1. %

Demonstrations

f_.ﬁﬂz/‘
2. %

Dramatie participation
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Contrived experiences
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Question Number : 146 Question Id : 4771878554 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Lithosphere, Atmosphere and Hydrosphere come under this branch of Geography.
- - # T LY . by
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Options :
Phyto Geography

SR

1. ®

Regional Geography

12065

2. %
Political Geography
220k

3. %

Physical Geography
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Question Number : 147 Question Id : 4771878555 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

After observing the places like Shimla, Darjeeling and Nainital, ete., a class-X
student came to a conclusion that, when height of a place is increasing, the

temperature is decreasing. The learning approach that is reflected here is
Sk stes 2 SG g S LTS o oG et L zslz f
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Options :

Inductive
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Deductive
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Question Number : 148 Question Id : 4771878556 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A visit to water works, printing press, telephone exchange & railway station

majorly help in learning about these resources.
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Options :

Geographical
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Economic
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Question Number : 149 Question Id : 4771878557 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the characteristics of good evaluation tool among the following
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A) Practicability

=M

-

B) Subjectivity
= vy

C) Objectivity
el

D) Reliability
=

E) Validity

=iyt

Choose the correct one:
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Options :

A BCD&E
1. #®

A, B,C& Donly
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A, C, D& Eonly
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B,C,Dé& Eonly
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Question Number : 150 Question Id : 4771878558 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Match the following List-A with List-B, regarding component teaching skills

associated with different stages of a lesson.
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List-A List-B
A g B g
(Stage of lesson) (Component teaching skill)
(L L6 (e ApSsbdazn)
A) Planning stage i) Demonstrating
o KL oS 2l
B) Introductory stage ii) (Giving assignments
M :jr:l:"" . s ol o2
C) Presentation stage iii)  Selection of the audio-visual aid

_J.pfgf‘%- __,B:'Ib/_ﬁdﬂ:df

D) Closing stage iv)  Introducing the lesson
Reyticd LS AT

Choose the correct answer:
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Options :
A-1i;B-iv;C—-1;D-11
1.v
A—-1wv;B—1;C=1i; D-m
2. %
A—-nm;B—1;C=1wv;D-n
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A—-iv;B-ii;;C—1;D-1i
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